
qm=;= ldlt /fxt lbg] bftfsf] gfd, gub lhG;L

1 2076.12.25 >Ls[i)f k|)fdL dlGb/ v}=g=kf= 5 25,000.00      

2 2076.12.25 >L ;fgf ls;fg s[lif ;xsf/L ;+:yf v}=g=kf= 50,000.00      

3 2076.12.25 >L g]kfn kf/f e]^g/L v}/xgL 15,000.00      

4 2076.12.26 >L g]kfnL sf+u|]; v}/xgL gu/ ;ldlt 51,000.00      

5 2076.12.26 >L r]Ga/ ckm sd;{ v}/xgL 0.00 1350 lk; df:s

6 2076.12.27 >L d]gsf Ol~hlgol/ª c^f] js{;k v}=g=kf 1 50,000.00      

7 2076.12.27 >L k/x+z >L j[Gb|fjg :d[lt k|lti&fg v}=g=kf=1 5,555.00       

8 2076.12.27 >L pBf]u jfl)fHo ;+# v}/xgL 151,000.00     500 lk; df:s

9 2076.12.27 >L ;okqL ax'p@]ZoLo ;xsf/L ;+:yf 51,151.00       

10 2076.12.27 >L lhNnf k|zf;g sfof{no e/tk'/ 500 lk; df:s

11 2076.12.27 >L /fdgfy kf&s / ld/f v/]n kf&s 11,100.00      

12 2076.12.27 >L g]]=s=kf= v}/xgL g=kf 6 j*f sldl^ 32,270.00      

13 2076.12.28
nfoG; Sna ckm lrtjg O:^, nfoG; Sna ckm 

lrtjg O:^ lu|g
750 s]=hL rfdn

ljZjJofkL ?kdf km}lnPsf] sf]/f]gf efO/; h:tf] dxfdf/Lsf] ljifd kl/l:yltdf v}/xgL gu/kflnsf leq a:g] >dLs 

ju{ tyf c;xfox?sf] lgldQ v}/xgL gu/kflnsfsf] /fxt sf]if xfn;Dd hDdf ePsf] gub / lhG;L ;fdfg ljj/)f 

tkl;n adf]lhd /x]sf] Joxf]/f cg'/f]w % . 

tkl;n


